Making Change (A)

Calculate how much change is required for each transaction.

Cost of Items Amount Paid Change Required

$7.37 @R 0

; 6L 64739322 A

S 1D
B - G

¥ GL64T39322 A

$7.52

; 6L 647393922 A

34.37 { A% Al

$7.14

$3.14 ‘® T 0

; 6L 64739322 A
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Making Change (A) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$7.37

$7.52

$4.37

$7.14

$3.14

Amount Paid Change Required

0@ $2.63

}
; 6L 64739322 A

,.
R $2.48

¥ GL64T39322 A

$5.63

$2.86

00 $6.86

}
; GL 64739922 A
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Making Change (B)

Calculate how much change is required for each transaction.

Cost of Items Amount Paid Change Required

$0.26 @R 0

; 6L 64739322 A

S 1D
B - G

¥ GL64T39322 A

$3.31

; 6L 647393922 A

35.39 { A% Al

$8.78

$6.00 ‘® o B

; 6L 64739322 A
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Making Change (B) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$0.26

$3.31

$5.39

$8.78

$6.00

Amount Paid Change Required

0@ $9.74

}
; 6L 64739322 A

,.
e (ko $6.69

¥ GL64T39322 A

$4.61

$1.22

o 54.00

}
; GL 64739922 A
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Making Change (C)

Calculate how much change is required for each transaction.

Cost of Items Amount Paid Change Required

$5.83 @R 0

; 6L 64739322 A

S 1D
B - G

¥ GL64T39322 A

$1.09

; 6L 647393922 A

35.13 { A% Al

$7.38

$7.99 ‘® o B

; 6L 64739322 A
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Making Change (C) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$5.83

$1.09

$5.13

$7.38

$7.99

Amount Paid Change Required

S $4.17

}
; 6L 64739322 A

ey l b
8 - $8.91

¥ GL64T39322 A

$4.87

$2.62

e e $2.01

}
; GL 64739922 A
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Making Change (D)

Calculate how much change is required for each transaction.

Cost of Items Amount Paid Change Required

$3.04 @R 0

; 6L 64739322 A

S 1D
B - G

¥ GL64T39322 A

$2.03

; 6L 647393922 A

37.64 { A% Al

$9.30

$5.86 ‘® o B

; 6L 64739322 A
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Making Change (D) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$3.04

$2.03

$7.64

$9.30

$5.86

Amount Paid Change Required

0@ $6.96

}
; 6L 64739322 A

,.
L - (O $7.97

¥ GL64T39322 A

$2.36

$0.70

- $4.14

}
; GL 64739922 A
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Making Change (E)

Calculate how much change is required for each transaction.

Cost of Ttems

$8.09

$6.00

$0.70

$0.54

$5.25

Amount Paid Change Required

0
;

; 6L 64739322 A

S 1D
B - G

¥ GL64T39322 A

3
Y\ ¢
VAN

; 6L 647393922 A

Ul
VA
¥

; 6L 64739322 A
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Making Change (E) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$8.09

$6.00

$0.70

$0.54

$5.25

Amount Paid Change Required

L $1.91

}
; 6L 64739322 A

,.
R $4.00

¥ GL64T39322 A

$9.30

$9.46

L@ $4.75

}
; GL 64739922 A
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Making Change (F)

Calculate how much change is required for each transaction.

Cost of Ttems

$0.87

$3.68

$4.40

$9.97

$8.13

Amount Paid Change Required

0
;

; 6L 64739322 A

S 1D
B - G

¥ GL64T39322 A

3
Y\ ¢
VAN

; 6L 647393922 A

Ul
VA
¥

; 6L 64739322 A
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Making Change (F) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$0.87

$3.68

$4.40

$9.97

$8.13

Amount Paid Change Required

A - $9.13

}
; 6L 64739322 A

ey l b
8 - $6.32

¥ GL64T39322 A

$5.60

$0.03

o 51.87

}
; GL 64739922 A
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Making Change (G)

Calculate how much change is required for each transaction.

Cost of Ttems

$1.70

$2.86

$5.77

$9.04

$0.89

Amount Paid

0
;

; 6L 64739322 A

S 1D
B - G

¥ GL64T39322 A

3
Y\ ¢
VAN

; 6L 647393922 A

Ul
VA
¥

; 6L 64739322 A

Public Domain Images from Wikipedia.
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Making Change (G) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$1.70

$2.86

$5.77

$9.04

$0.89

Amount Paid Change Required

0@ $8.30

}
; 6L 64739322 A

,.
L - (O $7.14

¥ GL64T39322 A

$4.23

$0.96

e e $9.11

}
; GL 64739922 A
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Making Change (H)

Calculate how much change is required for each transaction.

Cost of Items Amount Paid Change Required

$6.52 @R 0

; 6L 64739322 A

S 1D
B - G

¥ GL64T39322 A

$8.11

; 6L 647393922 A

39.64 { A% Al

$9.65

$8.57 ‘® o B

; 6L 64739322 A
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Making Change (H) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$6.52

$8.11

$9.64

$9.65

$8.57

Amount Paid Change Required

S - TG $3.48

}
; 6L 64739322 A

,.
R $1.89

¥ GL64T39322 A

$0.36

$0.35

e e $1.43

}
; GL 64739922 A
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Making Change (I)

Calculate how much change is required for each transaction.

Cost of Items Amount Paid Change Required

$8.17 @R 0

; 6L 64739322 A

S 1D
B - G

¥ GL64T39322 A

$2.11

; 6L 647393922 A

32.14 { A% Al

$6.93

$2.77 ‘® o B

; 6L 64739322 A
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Making Change (I) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$8.17

$2.11

$2.14

$6.93

$2.77

Amount Paid Change Required

0@ $1.83

}
; 6L 64739322 A

,.
L - (O $7.89

¥ GL64T39322 A

$7.86

$3.07

e e $7.23

}
; GL 64739922 A
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Making Change (J)

Calculate how much change is required for each transaction.

Cost of Items Amount Paid Change Required

$6.39 @R 0

; 6L 64739322 A

S 1D
B - G

¥ GL64T39322 A

$4.86

; 6L 647393922 A

32.85 { A% Al

$2.26

$6.68 ‘® o B

; 6L 64739322 A
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Making Change (J) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$6.39

$4.86

$2.85

$2.26

$6.68

Amount Paid Change Required

0@ $3.61

}
; 6L 64739322 A

,.
L - (O $5.14

¥ GL64T39322 A

$7.15

$7.74

e e $3.32

}
; GL 64739922 A
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